Winning With Wimpy
I played in the North American Open Pairs a few weekends ago. This hand came up late in the semi finals of Flight A.  I held:
(K Q 6  ( A 9 ( Q J 9 4 ( Q T 7 5.
  Partner passed and my RHO opened the auction:

South 

West

North (me)

East

Pass 
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  2NT
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3NT

All Pass

It was a little pushy to be sure, but my minor suit honors looked like they would be pulling their full weight.  West led the (3 and I tabled my hand. Let’s look at the hand from partner’s perspective…
( K Q 6




( A 9 

( Q J 9 4
( Q T 7 5
( J 8 5
( Q 7 4 2
( A 6 5
( A 9 4
Take a moment and decide how you would play this hand. There’s several landmines in there. 
East played the (J, captured with the (A.  The (9 was returned and ducked.  Declarer now shifted to a low spade. West shot up with the (A and partner alertly made the key play of unblocking the (K.  West shifted to a low heart and all were surprised when East won the (K. East returned a low heart knocking out dummy’s (A. 
Dummy now led the Queen of Clubs and all followed, West winning his King. He exited with the (J, removing declarer’s last heart stopper. Do you see how to make this hand?
With nothing else to go by, declarer would almost certainly take the diamond finesse. However, the auction and subsequent play has made it impossible for East to hold the King of Diamonds. If we allow West to win it, he will cash the 5th and setting trick. What can be done about it?  Now do you see it?

There are only four distributions that we need to consider. We know that West started with 5 hearts, 3 clubs and at least one spade. He must be either 1-5-4-3, 2-5-3-3, 3-5-2-3, or 4-5-1-3.  Cashing a few black winners will undoubtedly put some pressure on him. Partner led a spade to the Queen. West followed. Now there are only 3 distributions possible. Next he cashed dummy’s last club, pitching a diamond from his hand. West pitched a diamond. That means he started with a least two, since he still must hold the King. West must be originally 2-5-3-3, or 3-5-2-3. If it’s the latter, he has already blanked his King of Diamonds. 
Now declarer led his carefully preserved (6 back to his hand and West was a goner. He was forced to pitch a heart. It was academic from here. Declarer led his last heart - (see why he kept it instead of a diamond?) - and West was forced to lead away from his (Kx. Nine tricks bid and made very nicely.  It also demonstrates how far ahead declarer planned his play, knowing he would need a late hand entry to execute the throw-in. 
Was there a goat on this hand? I’d say there were two of them. Goat number one was West, who opened an extremely marginal hand with a poor 5 card suit. Had he followed my advice from the Nov 2008 Kibitzer, he would have evaluated his hand to be just short of an opening bid. Once he opened it, he drew a road map for declarer to make what might have otherwise been a highly improbable play.  Finally, once he opened it, it has very few redeeming features other than the poor 5 card suit. With three possible entries, he should have led a heart and hoped to establish a long winner or two.

That said, I feel the true goat on this hand was East. Understanding that I’m going to draw a fair amount of criticism for this, I think that East should have definitely doubled 3NT.  East knows that N-S have climbed into a thin game likely without a long suit to provide extra tricks. East knows that his partner will probably give away a trick in any suit he leads other than hearts. Finally, East knows that he wants his partner to lead a low heart. How would you feel if West leads the (Q (from (QJT) and you are forced to unblock the (K under the (A. This play would set up a trick for declarer if he started with as little as (8 5 4 2.  I realize that such a weak holding by South would be unlikely, but I’ve seen stranger things.
Basically, unless partner has psyched an opening bid, East knows that a low heart lead rates to be best for the defense. Given that other leads could be catastrophic (it was), I think it’s worth the risk of going -550 for 3NT making 3 (losing 4 imps when your partners are +400) or even -650 for making 4 (losing 6 imps) to tell partner to table a heart on his opening lead.  Try any line of play, after an opening heart lead, declarer will fail. 
Many players have accused me of being fast on the double. While there’s truth in that, it’s important to understand that doubling a contract simply because you think a hand is going down is very ill-advised. However, when you have a reasonable belief that a particular lead may be the only way to defeat a contract, it starts becoming worth the risk. Here I think double is a gamble.  I also believe that NOT DOUBLING is a bigger one.  Be alert, and help partner out when you get the chance. 
When the opponents bid to an uncontested 3NT, and you double, you are asking for a lead of one of dummy’s suits, usually the first one. When partner has bid, and you haven’t, you are asking for a lead of partner’s suit, usually to unblock honor doubleton. When you have bid, and partner hasn’t, you are demanding your own suit. Finally, when you both have bid different suits, and the opponents still get to 3NT, you need an agreement, although most agree that it asks for partner’s suit. 

The whole hand:
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For more tips on improving your game, check out my website at www.wimpy.biz
